A % Slo %,‘. ali K ,ﬁ%ﬁ. { ( —] 2. The towline exerts a force of P =4 kN at the end of the 20-m-long crane
’ boom. If 6= 30°, determine the placement x of the hook at A so that this
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1. Two tractors pull on the tree with the forces shown. Represent each force as § e = - I
a Cartesian vector and then determine the magnitude and coordinate direction '
angles of the resultant force.( &4 20 %)

3. Determine the force in each member of the truss. State whether the
members are in tension or compression. Set P=8 kN. ( &% 20 %)
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4. The automobile has a speed of 80 fi/s at point A and an acceleration a having
a magnitude of 10 ft/s%, acting in the direction shown. Determine the radius
of curvature of the path at point 4 and the tangential component of
acceleration. ( &4 20 %)

5 Determine the tension developed in the cords attached to each block and the
accelerations of the blocks. Neglect the mass of the pulleys and cords. ( &

520 %)






